
Make Equal Groups – Sharing 

1. 4 flowers should be placed into Group A; 4 flowers should be placed into Group B and 

4 flowers should also be placed into Group C so 12 is shared into 3 groups of 4.

2. C

3. 15 ÷ 3 = 5

4. 18 and 6; 18 ÷ 2 = 9 and 6 ÷ 2 = 3. 19 would create unequal groups when shared 

between 2.

5. Various answers, for example: 2 groups with 10 trays in each group (20 ÷ 10 = 2); 10 

groups with 2 trays in each group (20 ÷ 2 = 10); 4 groups with 5 trays in each group (20 ÷

4 = 5)

6. There are 30 eggs altogether; 30 – 3 = 27; 27 – 6 = 21; Evie cannot reshare the 

remaining eggs as 21 cannot be shared equally between 4 baskets.
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